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Your Roll N o..,..,.......,,an allocation of 80% and a standard deviation of

160/o, and asset B has an allocation of 20% and a

standard deviation of 25%o, If the correlation

coefficient between assets A and B is 0.6, find

the risk as per mean variance model. (4)

(b) A 13% preference share of XYZ Ltd is priced at

ll0, and another 15% preference share of ABC

Ltd is priced at Rs 160. Which share is good for

investment? (4)

(c) If the correlation between an asset and ths market

is 0.6, the standard deviation of the asset is l8o/o,

and the standard deviation of the market is l4%o,

what is the beta of the asset? (4)

(d) Explain the M.E. Porter model of industry analysis

(3)
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3 (a) A risk averse investor is holding stock Xl' He is

considering to add X2 and/or X3 to increase return'

but he is worried that risk will also increase' What

do you advise when the following information is

given? (4)

(c) ABC Ltd is evaluating a project which has a beta

value of 1.5. The return on the market Index is

l5%. The return on treasury bills is 5%' What is

the cost of equilY? (4)

(d) What are the various assumptions of the Capital

Asset Pricing Model? (3)

(a) In what proportion should the following securities

be combined to minimize risk? What will be the

- portfolio risk and return?

Stock X Stock Y

Retum 7o 8 l0

Standard deviation 6 8

Correlation +l

(4)

(b) A portfolio manager earned an average annual

return of 12o/o.'fhe beta of the portfolio is 0.9,

and the volatitity of returns is 25%. The average

annual return for the market index was 140/o, and

Stock

xt

x2

x3

Ex. Retum

l0o/o

l2o/o

t3%

St. Dev

5

,l

9
<. rl

(b) Stock A has expected return of 7.8% and beta of

0.7. Stock B has an expected return of 10.20%

and a beta of 1.3. The risk free rate is 50lo.

(4)

A. Plot the securitY market line.

B. What is the expected return on the market?

C. What is the expected return of C as per

CAPM having beta of 1.1.
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the standard deviation of the market returns is

30%. The risk-free rate is 5%. Calculate the

Treynor measure for the portfolio. (4)

(c) Mukesh wants to decide between two mutual funds

X and Y. From the financial reports, he is able to

calculate the average returns and the standard

deviations for the funds. The current risk free

rate of interest is 7 per cent. Using the Sharpe

index compare the performance of X and y funds.

x Y
Avemge Rcturn t9% l7o/o
Standard Deviation 2t l6

(4)

(d) Explain the candle stick chart with some example,

(3)

(a) The expected return on the market is 20% and

standard deviation is 30% and return on the risk-

free asset is 5%. Design the portfolio as per CAPM

with: (4)

36 7 54{t

2

(d) Briefly explain leading,lagging and coincident

indicators. (3)

(a) A 5 year bond with face value Rs 100 and l0%

coupon rate is currently available for Rs 90. It is

callable after 3 years at Rs I10. What is the current

yield, and yield to call? (4)

(b) CLD Ltd forecasts thar its dividend will grow at

I 20% per year for the nExt four years before

settling down at a constant 87o forever. Current

ldividend is Rs 12 and expected rate of rerurn is

l5%. What is the value of the stock now? (4)

(c) The risk-free rate is 5Yo and the market risk

premium is l0%, The beta of Stock A is L4 and

the standard deviation is 30%. What is the

expected return of Stock A according to the

CAPM. (4)

(d) Briefly €xplain Efficient market hypothesis. (3)

a ?
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(a) A Rsl00 par value bond bearing a coupon rate of

I 2 percent will mature after 5 years. What is the
value of the bond, if the discount rate is l5 percent.

(4)

(b) Mr. X needs Rs 4,00,000 after 2 years. He is

considering investment in the following two bonds.

Bonds A with 7%o coupon, 4 years to maturity and
current yield l0% available for Rs 905.

Bond B with 6%o coupon, I year maturity and
current yield I0%, available for ns q4!.

How much money should Mr. X inve& in each

bond? And how many of each bond
purchase?

(c) A company is currently paying a dividend of Rs 2
per share. The dividend is expected to grow at a
l5% annual rate for three years, then at l0% rate
for the next three years, after which it is expected

to grow at n syo rate for ever. What is the present

value of the share if the capitalization rate is 9yo?

(4)

A. No standard deviation

B. Standard deviation of I5olo

C. Standard deviation of 30%

D. Standard deviation of 45olo

(b) On Monday Sensex opened with 17000 points and

closed at 17500 points on Friday. The ABC stock
has 2.5 alpha and 1.7 beta values and currently
trading at Rs 1200, What will be the expected
return and the new price of ABC stock? (4)

(c) Stock A and Stock B are two real estate stock in
a portfolio having a return of 6yo and llyo and
weight of stock A is 54o/o and the weight of Stock
B is 46%. The standard deviation of A and B are

0.1 and 0,25. Also the correlation between the

two stocks is 0.l.Calculate variance of the
portfolio. g)

(d) Briefly explain the dow theory? (3)

(a) A portfolio is made up of two assets. Assef A has

a

will he

(4)
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